
1)

Answer: ____________

2)

Answer: ____________

3) 4/17 of 68

Answer: ____________

4) Factorise x2 + 8x + 16

Answer: ____________

5) 64/7 x 21/2

Answer: ____________

6) (-342) ÷ (-18)

Answer: ____________

7) 95 - 92

Answer: ____________

8) 12 - 3 - 8 x 19

Answer: ____________

9) (s7)10

Answer: ____________

10) 51/3 x 52/7

Answer: ____________

11) 51/3 x 52/7

Answer: ____________

12) Convert the following mixed number 
92/6 into an improper fraction.

Answer: ____________

13) 04:52 am To 10:24 am

Answer: ____________

14) Find the mean of the following set of data:

2, 0.6, 14, 11, 7

Answer: ____________

15) 216 ÷ 12

Answer: ____________
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16) Increase 104 by 5/52

Answer: ____________

17) 16 x (-24)

Answer: ____________

18) 9 x 1000

Answer: ____________

19) 72 x 25

Answer: ____________

20) Convert the following improper 
fraction 67/8 + 29/10 into a mixed 
number

Answer: ____________

Total: ___ / 20
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Answers:

1) 2) 3) 16 4) (x + 4)(x + 4) 5) 163/7 6) 19 7) 3

8) 9) s70 10) 284/21 11) 284/21 12) 28/3 13) 05 Hours 32 Mins 14) 6.92

15) 18 16) 114 17) 18) 9000 19) 1800 20) 931/40
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